AvJIL.A(CPR)

COUPLE.A(CPR)

W R

Features

@ BERRYAT
No-leak type

@ iR - RERICENOIEWV Y —)LEE

Seal mechanism allowing no leakage at coupling/separating

W VT MESER-SimitE

Internal Construction of Socket, Part Materials

i)

CPR-SSVXM5C

h
W
7
v

>

e
it [
iz (="

CPR-SSV XRc1/8~Rc3/4

T T— Adapter SUS316 SR X Segment Snap Ring| SUS
ouvy O Ring J\A k> Viton 7 TH— Adapter SUS316
Ty v— Pusher SUS316 Ty v—ik)bF— Pusher Holder SUS316
ouvy O Ring XA k> Viton EANIRTUT Piston Spring SUS304
Viy bR Socket Body SUS316 ouvyg O Ring I\ k> Viton
EANYRTUT Piston Spring SUS304 VI w hEK Socket Body SUS316
ouUvy O Ring JXA4 k> Viton \VASE V-Packing I\ k> Viton
AY—=TJ2AFU G Sleeve Spring SUS304 EXNVAK Piston SUS316
wh—Jb Ball SUS304 EARVINyFY Piston Packing I\ k> Viton
AY—7J Sleeve SUS316 (18727 O Ring I\ k> Viton
AY—TZAKwTUUY  Sleeve Stopring SUS304 Ty v— Pusher SUS316
AY—=TZ2TUT Sleeve Spring SUS304
R—JL Ball SUS304
AY—7J Sleeve SUS316
AY—TZARwTUUY  Sleeve Stopring SUS304

B TS OEER - BmME

Internal Construction of Plug, Part Materials

CPR-SPVXM5

CPR-SPVXR1/8~R3/4

IAV| w7 Valve Body SUS316 JLT NNy F Valve Packing A1 K> Viton
INIVTRTUV T Valve Spring SUS304 JNVITRTUV T Valve Spring SUS304
TSIKE Plug Body SUS316 TSOKE Plug Body SuUsS316
QuUvy O Ring I/ k> Viton JNIVTRILE — Valve Holder SUS316
ouvy O Ring J\A R Viton JULTRA Sy FU2Y  Valve Stopring sSuUsS304
TSIV vhk Plug Socket SUS316 JAVI VN7 Valve Body SUS316

94



B SIFMEER

Gross Construction

L Ruxss

Specifications

| AYTIL.A(CPR)

e

—ll-lu—"_h
FI |”||l"‘-l—;=ll_
| 'I:*” —-n._---—1
m— R P

W R LD

Recommended Tightening Torque

The content of the specification may vary depending on working condition.
UL TELBRISHUF T,

B ABERTHE

How to Designate

CPR - SSV

¥

HyTIL.AYU—XEES
COUPLE.A Series Name

wiEnl

Part No. of Standard Type

Vv Socket
759 Plug

225 7K
Air, Water, Oil
O~ 2MPa(20kgf/cm?)-/ULTE  Without Valve M5 05~1.0
0~1.4MPa(14kgf/cm?®)---JVLJfF  With Valve R(PT)1/8 7~9
—10~150C (FEEET &) R(PT)1/4 12~14
(Not to be freezed) R(PT)3/8 22~24
MEARMIC K D HROEASHBREIEEN GO ET DT RO LTHEAL T, R(PT)1/2 28~30

MR LI BT LEEL,
BRE U TIIFRHHDE. R/\FEDOTEICT2~IEEICHELET,
RAUBICEY—ILT—TRIEY—IVEIEZ CERLEEL,
Please follow the recommended tightening torque.
Please use the seal tape or seal adhesive for R-screw.

X Mbc

RUYrX
Screw Size
M5x0.8

1/8
174
3/8
1/2
3/4

95



| #v 7)L.A(CPR) Y4y kAR CPR-SSV + Y4 v 74X CPR-SSV

(unit : mm)
A
ST YR AR
Female Socket
CPR-SSV XMb5c¢c M5X0.8 4.5 35.5 12 10 -
CPR-SSVXRc1/8 1/8 9 44.2 16 14 -
CPR-SSVXRc1/4 1/4 13 51.7 22 19 -
CPR-SSV XRc3/8 3/8 14 62.9 27 24 -
CPR-SSVXRc1/2 1/2 17 77.4 35 29 -
8 —I CPR-SSV X Rc3/4 3/4 19 89.9 44 38 -
A KEBICOVWTRBHLEDELREL.
Bc j } Please inquire of us about mass.
I
- =
T R Q CPR-SSVXM5c
HEX \HEX
A
v B
7
v
A A
P E— -
i o
L ISAL - @
b CPR-SSV XRc1/8~Rc3/4
Rc
HEX
(unit : mm)

VITwhF X

Male Socket
CPR SSV CPR-SSV XM5 M5X0.8 4 35.5 12 10 -
CPR-SSVXR1/8 1/8 9 44.7 16 14 -
- CPR-SSVXR1/4 1/4 13 52.2 22 19 -
CPR-SSV XR3/8 3/8 14 63.4 27 24 -
CPR-SSVXR1/2 1/2 17 78.4 35 29 -
| 8 { CPR-SSV XR3/4 3/4 19 90.9 44 38 -

A A ‘ HEBICDOVTIEBBVEDE L ZEL,

Please inquire of us about mass.

#C

CPR-SSVXM5

X
HEX \H_EX,,

/ . | | H CPR-SSVXR1/8~R3/4
R

96



JSUXR CPRSPV - 75442 CPRSPV | v JIL.A(CPR)

(unit : mm)
TSITAXRX
Female Plug
CPR-SPV XM5c M5X0.8 4.5 29.5 10 -
CPR-SPV XRc1/8 1/8 9 34 13 -
CPR-SPV XRc1/4 1/4 13 41 17 -
CPR-SPV XRc3/8 3/8 14 52 21 -
CPR-SPV XRc1/2 1/2 17 63 26 -
B ] CPR-SPV XRc3/4 3/4 19 74 32 -
A Rc XEBICOVTRBMULEDE LT,
r_) Please inquire of us about mass.
H CPR-SPVxM5c
HEX HEX
! B —
A
—
HEX Bce. CPR-SPVXRc1/8~Rc3/4
(unit : mm)

TS5TFR
Male Plug
CPR-SPV

A R
F Ve

Aﬂ*__ A

HEX

(s

HEX

CPR-SPVXM5 M5X0.8 4 29.5 10 -
CPR-SPVXR1/8 1/8 9 31 13 -
CPR-SPVXR1/4 1/4 13 37 17 -
CPR-SPV XR3/8 3/8 14 46 21 -
CPR-SPV XR1/2 1/2 17 59 26 -
CPR-SPV XR3/4 3/4 19 67 32 -

\ CPR-SPV XM5
HEX

HXEECOVTEBBLEDE L EEL,

Please inquire of us about mass.

CPR-SPVXR1/8~R3/4

97



